HOMOMORPHISMS OF *l*¹-MUNN ALGEBRAS AND APPLICATIONS TO SEMIGROUP ALGEBRAS

MAEDEH SOROUSHMEHR

(Received 13 October 2014; accepted 5 February 2015; first published online 2 April 2015)

Abstract

In this paper, for an arbitrary ℓ^1 -Munn algebra \mathfrak{A} over a Banach algebra A with a sandwich matrix P, we characterise all homomorphisms from \mathfrak{A} to a commutative Banach algebra B. Especially, we study the character space of this algebra. Then, as an application, its character amenability is investigated. Finally, we apply these results to certain semigroups, which are called Rees matrix semigroups.

2010 *Mathematics subject classification*: primary 46H05, 43A22; secondary 43A07, 43A20. *Keywords and phrases*: Banach algebra, semigroup, semigroup algebra, homomorphism, character space, amenability, character amenability.

1. Introduction

Munn algebras were first introduced by Munn in [9] and the algebraic properties of these algebras were studied there. This concept was generalised in [5] to characterise amenability of semigroup algebras. Then some aspects of these algebras were investigated in [4]. Munn algebras present a new category of Banach algebras which can be used in the study of semigroup algebras of completely *o*-simple semigroups with finitely many idempotents. These applications give a strong motivation to study these algebras as abstract objects (see for example [4, 5]). In [11], the author studied the ultrapowers of these algebras. Also, in [12], by using these algebras, weighted Rees matrix semigroup algebras were investigated.

The first goal of this paper is to study all homomorphisms from a Munn algebra $\mathfrak{A} = \mathcal{M}(A, P, I, J)$ to a commutative Banach algebra *B* in terms of homomorphisms from *A* to *B*. Especially, the character space of Munn algebras is investigated. Then we show that character amenability of \mathfrak{A} implies character amenability of *A*. We also give some examples to show that the converse of this result is not true in general. We recall that for a Banach algebra *A* and a character ϕ on *A*, *A* is called right ϕ -amenable if there exists a right ϕ -mean on A^* ; that is, a bounded linear functional *m* on A^* satisfying $a \cdot m = \phi(a)m$ and $m(\phi) = 1$. The 'left' version is defined in a similar way (see [7, 8]). In harmonic analysis, the interest in character amenability arises from the

^{© 2015} Australian Mathematical Publishing Association Inc. 0004-9727/2015 \$16.00

M. Soroushmehr

fact that left character amenability of both the group algebra $L^1(G)$ and the Fourier algebra A(G) are characterised by amenability of G (see [10]). Here we characterise the character space of Rees matrix semigroup algebras and present a relation between character amenability of Rees semigroup algebras and amenability of their maximal subgroups.

2. Main results

Let *A* be a unital Banach algebra, let *I* and *J* be nonempty sets and let $P = (p_{ji}) \in M_{J \times I}(A)$ be such that $\sup\{||p_{ji}|| : i \in I, j \in J\} \leq 1$. Then the set $\mathfrak{A} = M_{I \times J}(A)$ of all $I \times J$ matrices $(a_{ij})_{ij}$ over *A* with ℓ^1 -norm $||(a_{ij})|| = \sum_{i \in I, j \in J} ||a_{ij}|| < \infty$ and product $a \circ b = aPb$, for all $a, b \in \mathfrak{A}$, is a Banach algebra, which is called the ℓ^1 -Munn algebra over *A* with sandwich matrix *P* and it will be denoted by $\mathcal{M}(A, P, I, J)$. If the index sets *I* and *J* are finite with |I| = m and |J| = n, then we use the notation $\mathcal{M}(A, P, m, n)$ rather than $\mathcal{M}(A, P, I, J)$.

Throughout, we adopt the notation as above. Also, the identity of *A* is denoted by *e* and, for $i \in I$ and $j \in J$, we follow the terminology of [4] and denote by \mathcal{E}_{ij} the element of \mathfrak{A} with *e* in the (i, j)th place and 0 elsewhere. Thus, $||\mathcal{E}_{ij}|| = ||e|| = 1$. This notation enables us to represent an element $N = (N_{ij})_{ij} \in \mathfrak{A}$ by $N = \sum_{i \in I, i \in J} N_{ij} \mathcal{E}_{ij}$.

Let *A* and *B* be two Banach algebras. The space of all linear maps $T : A \to B$ is denoted by $\mathfrak{L}(A, B)$. If for an element $T \in \mathfrak{L}(A, B)$ and for all $a, b \in A$ we have T(ab) = T(a)T(b), then *T* is called a homomorphism. We firstly consider the existence of a homomorphism in $\mathfrak{L}(\mathcal{M}(A, P, I, J), B)$, where *B* is a commutative Banach algebra.

THEOREM 2.1. Let $\mathfrak{A} = \mathcal{M}(A, P, I, J)$ be the ℓ^1 -Munn algebra over A with sandwich matrix $P = (p_{ji})$ such that $\{p_{ji} : i \in I, j \in J\} \cap \operatorname{Inv}(A) \neq \emptyset$. Let B be a commutative Banach algebra and let $T \in \mathfrak{Q}(\mathfrak{A}, B)$. Then T is a nonzero homomorphism if and only if there exists a unique nonzero homomorphism L in $\mathfrak{Q}(A, B)$ such that

$$L(p_{ji}p_{lk}) = L(p_{jk}p_{li}) \quad (j, l \in J, i, k \in I)$$
(2.1)

and

$$T(N) = \sum_{i \in I, j \in J} L(n_{ij}) L(p_{ji}) \quad (N = (n_{ij}) \in \mathfrak{A}).$$
(2.2)

PROOF. Suppose that $T \in \mathfrak{L}(\mathfrak{A}, B)$ is a nonzero homomorphism. By our hypothesis, there exist $i_0 \in I$ and $j_0 \in J$ with $p_{j_0 i_0} \in \text{Inv}(A)$. We define $L \in \mathfrak{L}(A, B)$ by

$$L(a) = T(ap_{j_0 j_0}^{-1} \mathcal{E}_{i_0 j_0})$$
(2.3)

for all $a \in A$. Since *T* is nonzero, there exists $N = (N_{ij})_{ij}$ such that $T(N) \neq 0$. Now we may use the representation $N = \sum_{i \in I, j \in J} N_{ij} \mathcal{E}_{ij}$ to obtain $i \in I$, $j \in J$ such that $T(N_{ij}\mathcal{E}_{ij}) \neq 0$. So,

$$T(N_{ij}\mathcal{E}_{ij}) = T(N_{ij}\mathcal{E}_{ij_0} \circ p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0} \circ p_{j_0i_0}^{-1}\mathcal{E}_{i_0j}) = T(N_{ij}\mathcal{E}_{ij_0})T(p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0})T(p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0})$$

This shows that $L(e) = T(p_{j_0 i_0}^{-1} \mathcal{E}_{i_0 j_0}) \neq 0$ and hence *L* is nonzero. Furthermore, for all $a, b \in A$,

$$\begin{split} L(ab) &= T(abp_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0}) = T(ap_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0} \circ bp_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0}) \\ &= T(ap_{j_0i_0}^{-1}\mathcal{E}_{j_0i_0})T(bp_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0}) \\ &= L(a)L(b). \end{split}$$

Therefore, L is a homomorphism.

Now we show that *L* satisfies the equality (2.1). For $j, l \in J$ and $i, k \in I$,

$$L(p_{ji}p_{lk}) = L(p_{ji})L(p_{lk}) = L(p_{lk}p_{ji}) = T(p_{lk}p_{ji}p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0})$$

$$= T(\mathcal{E}_{i_0l} \circ \mathcal{E}_{kj} \circ p_{j_0i_0}^{-1}\mathcal{E}_{ij_0})$$

$$= T(\mathcal{E}_{i_0l} \circ p_{j_0i_0}^{-1}\mathcal{E}_{ij_0} \circ \mathcal{E}_{kj}) \quad \text{(since } B \text{ is commutative)}$$

$$= T(\mathcal{E}_{i_0l} \circ p_{j_0i_0}^{-1}\mathcal{E}_{ij_0})T(\mathcal{E}_{kj})$$

$$= T(p_{li}p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0})T(\mathcal{E}_{kj})$$

$$= L(p_{li})T(p_{j_0i_0}^{-1}\mathcal{E}_{kj_0} \circ \mathcal{E}_{i_0j})$$

$$= L(p_{li})T(\mathcal{E}_{i_0j} \circ p_{j_0i_0}^{-1}\mathcal{E}_{kj_0})$$

$$= L(p_{li})T(p_{jk}p_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0}) = L(p_{li}p_{jk}).$$

It remains to show that *L* satisfies the equality (2.2). Suppose that $N = (n_{ij}) \in \mathfrak{A}$. By using the representation $N = \sum_{i \in I, j \in J} n_{ij} \mathcal{E}_{ij}$,

$$\begin{split} T(N) &= \sum_{i \in I, j \in J} T(n_{ij} \mathcal{E}_{ij}) = \sum_{i \in I, j \in J} T(n_{ij} p_{j_0 i_0}^{-1} \mathcal{E}_{ij_0} \circ \mathcal{E}_{i_0 j}) \\ &= \sum_{i \in I, j \in J} T(\mathcal{E}_{i_0 j} \circ n_{ij} p_{j_0 i_0}^{-1} \mathcal{E}_{ij_0}) \\ &= \sum_{i \in I, j \in J} T(p_{ji} n_{ij} p_{j_0 i_0}^{-1} \mathcal{E}_{i_0 j_0}) \\ &= \sum_{i \in I, j \in J} L(p_{ji} n_{ij}) \\ &= \sum_{i \in I, j \in J} L(p_{ji}) L(n_{ij}). \end{split}$$

The uniqueness of *L* is easily verified by (2.3). Indeed, if there exists a homomorphism *L'* in $\mathfrak{L}(A, B)$ which satisfies (2.1) and (2.2), we can choose $i_0 \in I$ and $j_0 \in J$ such that $p_{j_0i_0} \in \text{Inv}(A)$. For a given $a \in A$, by (2.2), we obtain $L'(a) = T(ap_{j_0i_0}^{-1}\mathcal{E}_{i_0j_0})$, which is equal to L(a) by (2.3). This implies that L = L', as required.

Conversely, suppose that $T \in \mathfrak{Q}(\mathfrak{A}, B)$ and there exists a nonzero homomorphism L in $\mathfrak{Q}(A, B)$ such that (2.1) and (2.2) hold. Again using the fact that $\{P_{ji} : i \in I, j \in J\} \cap$ Inv(A) $\neq \emptyset$, we may obtain $i \in I$ and $j \in J$ with $L(p_{ji}) \neq 0$. Hence, $T(\mathcal{E}_{ij}) = L(p_{ji}) \neq 0$ and therefore T is nonzero. Now we claim that T is a homomorphism. Indeed, for $a = (a_{ij})$ and $b = (b_{ij})$ in \mathfrak{A} ,

$$T(a \circ b) = T\left(\sum_{k \in J, l \in I} a_{ik} p_{kl} b_{lj} \mathcal{E}_{ij}\right)$$

$$= \sum_{j,k \in J, i, l \in I} L(a_{ik} p_{kl} b_{lj} p_{ji})$$

$$= \sum_{j,k \in J, i, l \in I} L(a_{ik} b_{lj} p_{kl} p_{ji}) \quad (\text{since } B \text{ is commutative})$$

$$= \sum_{j,k \in J, i, l \in I} L(a_{ik} b_{lj} p_{ki} p_{jl}) \quad (\text{since } (2.1) \text{ holds})$$

$$= \sum_{k \in J, i \in I} L(a_{ik} p_{ki}) \sum_{l \in J, j \in I} L(b_{lj} p_{jl}) \quad (\text{again, since } B \text{ is commutative})$$

$$= T(a)T(b),$$

which completes the proof.

COROLLARY 2.2. Let $\mathfrak{A} = \mathcal{M}(A, P, I, J)$ be the ℓ^1 -Munn algebra over A with sandwich matrix $P = (p_{ji})$ such that $\{p_{ji} : i \in I, j \in J\} \cap \text{Inv}(A) \neq \emptyset$ and let $\Phi \in \mathfrak{A}^*$. Then Φ is a character on \mathfrak{A} if and only if there exists a unique character ϕ on A such that

$$\phi(p_{ji}p_{lk}) = \phi(p_{jk}p_{li}) \quad (j,l \in J, i,k \in I)$$

$$(2.4)$$

and

$$\Phi(N) = \sum_{i \in I, j \in J} \phi(n_{ij})\phi(p_{ji}) \quad (N = (n_{ij}) \in \mathfrak{A}).$$

$$(2.5)$$

PROOF. Since a character on a Banach algebra *A* is a homomorphism from *A* onto the commutative complex field \mathbb{C} , the result follows from Theorem 2.1.

REMARK 2.3. For a Banach algebra *A*, the character space of *A* is denoted by $\Delta(A)$. By Corollary 2.2, we obtain a bijection between a certain subset of $\Delta(A)$ and the character space of \mathfrak{A} . Indeed, we may write $\Delta(\mathfrak{A}) \subseteq \Delta(A)$. By choosing an appropriate sandwich matrix *P*, one may obtain a Munn algebra \mathfrak{A} for which, up to a bijection, we have $\Delta(\mathfrak{A}) = \Delta(A)$.

EXAMPLE 2.4. Let *A* be a Banach algebra, *I* and *J* be nonempty sets and $\{a_j : j \in J\}$ be a set of nonzero elements of the unit ball of *A*. For every $i \in I$, $j \in J$, define the $J \times I$ matrix *P* by $p_{ji} = a_j$. If $\mathfrak{A} = \mathcal{M}(A, P, I, J)$, then, for each character $\phi \in A$, (2.4) holds. Therefore, up to a bijection, we obtain $\Delta(\mathfrak{A}) = \Delta(A)$.

Now we are ready to present an application of our result.

THEOREM 2.5. Let $\mathfrak{A} = \mathcal{M}(A, P, m, n)$ be the ℓ^1 -Munn algebra over A with sandwich matrix $P = (p_{ji})$ such that $\{p_{ji} : 1 \le i \le m, 1 \le j \le n\} \cap \text{Inv}(A) \neq \emptyset$. Let Φ be a character on \mathfrak{A} with $\phi(p_{ji}p_{lk}) = \phi(p_{jk}p_{li})$ for all $1 \le j, l \le n, 1 \le i, k \le m$ and

$$\Phi(N) = \sum_{i=1}^{m} \sum_{j=1}^{n} \phi(n_{ij})\phi(p_{ji})$$

118

for all $N = (n_{ij}) \in \mathfrak{A}$. If \mathfrak{A} is right (respectively left) Φ -amenable, then A is right (respectively left) ϕ -amenable.

PROOF. Suppose that \mathfrak{A} is right Φ -amenable. Then \mathfrak{A} has a right Φ -mean in \mathfrak{A}^{**} , say M, such that $M(\Phi) = 1$ and $N \cdot M = \Phi(N)M$ for all $N \in \mathfrak{A}$. By [6, Lemma 3.2], we have $\mathfrak{A}^{**} \simeq \mathcal{M}(A^{**}, P, m, n)$. (Note that both A^{**} and \mathfrak{A}^{**} are equipped with the first or the second Arens product; see [1, 2] for more details.) Hence, we may suppose that $M = (m_{ij})_{ij}$ with $m_{ij} \in A^{**}$ for all i, j. Also, we may extend the equality (2.5) to \mathfrak{A}^{**} by Goldstine's theorem to obtain $M(\Phi) = \sum_{i=1}^{m} \sum_{j=1}^{n} m_{ij}(\phi)\phi(p_{ji})$. Since $M(\Phi) = 1$, there exist $1 \le i_0 \le m$ and $1 \le j_0 \le n$ such that $\phi(p_{j_0i_0}) \ne 0$. For $N = \mathcal{E}_{i_0j_0}$, by applying formula (1) of [6],

$$0 = (\mathcal{E}_{i_0 j_0} \cdot M - \Phi(\mathcal{E}_{i_0 j_0})M)_{i_0 j_0} = \sum_{k=1}^m p_{j_0 k} \cdot m_{k j_0} - \phi(p_{j_0 i_0})m_{i_0 j_0}.$$
 (2.6)

On the other hand, for each $a \in A$,

$$0 = (a\mathcal{E}_{i_0j_0} \cdot M - \Phi(a\mathcal{E}_{i_0j_0})M)_{i_0j_0} = \sum_{k=1}^m ap_{j_0k} \cdot m_{kj_0} - \phi(p_{j_0i_0})\phi(a)m_{i_0j_0}.$$
 (2.7)

By (2.6) and (2.7),

$$\begin{split} \phi(p_{j_0i_0})(a \cdot m_{i_0j_0} - \phi(a)m_{i_0j_0}) &= \left(\phi(p_{j_0i_0})a \cdot m_{i_0j_0} - \sum_{k=1}^m ap_{j_0k} \cdot m_{kj_0}\right) \\ &+ \left(\sum_{k=1}^m ap_{j_0k} \cdot m_{kj_0} - \phi(a)\phi(p_{j_0i_0})m_{i_0j_0}\right) = 0 \end{split}$$

Set $m = m_{i_0 j_0}/m_{i_0 j_0}(\phi)$. Then $m(\phi) = 1$ and $a \cdot m - \phi(a)m = 0$ for all $a \in A$. This means that *A* is right ϕ -amenable. The 'left' part of the result holds analogously.

By [5], $\mathfrak{A} = \mathcal{M}(A, P, m, n)$ is amenable if and only if *A* is amenable, m = n and *P* is invertible in $M_n(A)$. Unexpectedly, this result does not hold in terms of character amenability. Indeed, if *P* is invertible in $M_n(A)$, then the Munn algebra is isomorphic to the matrix algebra $M_n(A)$ via $a \mapsto P^{-1}a$ and $M_n(A)$ does not have any characters when n > 1. Also, there are some ℓ^1 -Munn algebras $\mathfrak{A} = \mathcal{M}(A, P, m, n)$ such that the character amenability of *A* implies the character amenability of \mathfrak{A} , but $m \neq n$, as the following example shows.

EXAMPLE 2.6. Let $n \in \mathbb{N}$ and choose a right (respectively left) ϕ -amenable Banach algebra A with $\phi \in \Delta(A)$. Then $\mathfrak{A} = \mathcal{M}(A, P, 1, n)$ is right (respectively left) Φ -amenable, even if $n \neq 1$. Indeed, if $m \in A^{**}$ is a right (respectively left) ϕ -mean for A, then, by [6, Lemma 3.2], we may consider $M = (m_{1j})$ with $m_{1j} = m$ $(1 \le j \le n)$ as an element of \mathfrak{A}^{**} . It is easily seen that M is a right (respectively left) Φ -mean for \mathfrak{A} .

Next we give an example which shows that the converse of Theorem 2.5 is not necessarily true.

M. Soroushmehr

EXAMPLE 2.7. Let $A = \mathbb{C}$, $P = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$ and $\mathfrak{A} = \mathcal{M}(A, P, 2, 2)$. It is easy to see that $\phi = id_{\mathbb{C}}$ is the only character on A and A is right ϕ -amenable, but \mathfrak{A} is not right Φ -amenable. Indeed, if it was, then there would exist $m = \begin{pmatrix} m_1 & m_2 \\ m_3 & m_4 \end{pmatrix} \in \mathfrak{A}^{**}$ such that $\Lambda \cdot m = \Phi(\Lambda)m$ and $m(\Phi) = 1$ for all $\Lambda \in \mathfrak{A}$ and we may suppose that for each $i \in \{1, 2, 3, 4\}$, $m_i \in A^{**}$. For each $\Lambda = \begin{pmatrix} \lambda_1 & \lambda_2 \\ \lambda_3 & \lambda_4 \end{pmatrix} \in \mathfrak{A}$,

$$\Lambda \cdot m = \begin{pmatrix} \lambda_1 & \lambda_2 \\ \lambda_3 & \lambda_4 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} m_1 & m_2 \\ m_3 & m_4 \end{pmatrix} = \begin{pmatrix} \lambda_2 m_3 & \lambda_2 m_4 \\ \lambda_4 m_3 & \lambda_4 m_4 \end{pmatrix}.$$

On the other hand, by Corollary 2.2, $\Phi(\Lambda) = \lambda_4$ and so we obtain

$$\Phi(\Lambda)m = \begin{pmatrix} \lambda_4 m_1 & \lambda_4 m_2 \\ \lambda_4 m_3 & \lambda_4 m_4 \end{pmatrix}.$$

Since $\Phi(\Lambda)m = \Lambda \cdot m$,

$$\begin{pmatrix} \lambda_4 m_1 & \lambda_4 m_2 \\ \lambda_4 m_3 & \lambda_4 m_4 \end{pmatrix} = \begin{pmatrix} \lambda_2 m_3 & \lambda_2 m_4 \\ \lambda_4 m_3 & \lambda_4 m_4 \end{pmatrix}.$$

But Λ is arbitrary, so we see that $m_1 = m_2 = m_3 = m_4 = 0$, in contradiction to $m(\Phi) = m_4 = 1$.

3. Applications to semigroup algebras

In this section, we apply our results to some special semigroups, which are called Rees matrix semigroups, mainly to characterise their character space.

For a group *G* and $m, n \in \mathbb{N}$, we consider the set

$$S = \{(g)_{ij} : g \in G, 1 \le i \le m, 1 \le j \le n\} \cup \{o\},\$$

where $(g)_{ij}$ denotes the element of $M_{m \times n}(G^o)$ with g in the (i, j)th place and o elsewhere, o is the zero matrix and $G^o = G \cup \{o\}$. Let $P = (p_{ji})$ be an $n \times m$ matrix over G^o . Then the set S with the composition

$$(a)_{ij} \circ o = o \circ (a)_{ij} = o$$
 and $(a)_{ij} \circ (b)_{lk} = (ap_{jl}b)_{ik}$ $((a)_{ij}, (b)_{lk} \in S)$

is a semigroup, which is called a *Rees matrix semigroup with a zero over G*. We denote it by $S = \mathcal{M}^{o}(G, P, m, n)$. By [3, Lemma 2.46 and Theorem 3.5], *G* is a maximal subgroup of *G*. Further, by [5, Proposition 5.6],

$$\ell^1(S)/\mathbb{C}\delta_o = \mathcal{M}(\ell^1(G), P, m, n),$$

where the zero of G^o is identified with the zero of the ℓ^1 -Munn algebra $\mathcal{M}(\ell^1(G), P, m, n)$ and P is considered as a matrix over $\ell^1(G)$ (for more details, see [5]).

THEOREM 3.1. Let G be a group and $S = \mathcal{M}^o(G, P, m, n)$ be a Rees matrix semigroup with a zero over G. Then $\Phi \in \ell^1(S)^*$ is a character on $\ell^1(S)$ if and only if there is a character ϕ on G^o such that, for each $f \in \ell^1(S)$,

$$\Phi(f) = \sum_{g \in G, 1 \le i \le m, 1 \le j \le n} f((g)_{ij})\phi(g)\phi(p_{ji})$$
(3.1)

and

$$\phi(p_{ji}p_{lk}) = \phi(p_{li}p_{jk}) \quad (1 \le j, l \le n, 1 \le i, k \le m).$$
(3.2)

PROOF. Suppose that Φ is a character on $\ell^1(S)$. Since δ_o is an idempotent of $\ell^1(S)$, two cases may happen.

Case 1. Suppose that $\Phi(\delta_o) = 1$. Then Φ is the augmentation character, that is, $\Phi(f) = \sum_{s \in S} f(s)$ for all $f \in \ell^1(S)$. Indeed, we have $\Phi(\delta_s)\Phi(\delta_o) = \Phi(\delta_o)$ and so $\Phi(\delta_s) = 1$ for all $s \in S$, as required. Now it is sufficient to define a character ϕ on G^o by $\phi(s) = 1$ for all $s \in G^o$. Then (3.1) and (3.2) hold.

Case 2. Suppose that $\Phi(\delta_o) = 0$. The equality

$$\ell^1(S)/\mathbb{C}\delta_o = \mathcal{M}(\ell^1(G), P, m, n)$$

shows that Φ induces a character of the ℓ^1 -Munn algebra $\mathcal{M}(\ell^1(G), P, m, n)$, which we denote by $\overline{\Phi}$. Since, for at least one (i, j) $(1 \le i \le m, 1 \le j \le n)$, p_{ji} is a point mass (that is, δ_g for some $g \in G$), we have $\{p_{ji} : 1 \le i \le m, 1 \le j \le n\} \cap \text{Inv}(A) \ne \emptyset$. By Corollary 2.2, there is a character ϕ on $\ell^1(G)$ such that (2.4) and (2.5) hold. Further, there exists a character ϕ_G on G such that $\phi(\sum \alpha_g \delta_g) = \sum \alpha_g \phi_G(g)$ (see [4, Chs. 3 and 4]). So, ϕ_G can be extended to a character on G^o if we define $\phi_G(o) = 0$ and this extension of ϕ_G satisfies (3.1) and (3.2) when Φ is replaced by $\overline{\Phi}$. The identity $\Phi(\delta_0) = 0$ ensures that Φ satisfies (3.1).

The 'only if' part holds immediately.

COROLLARY 3.2. Let G be a group and $S = \mathcal{M}^{o}(G, P, m, n)$ be a Rees matrix semigroup with a zero over G. If $\Phi \in \Delta(\ell^{1}(S))$ is such that $\Phi(\delta_{o}) = 0$ and $\ell^{1}(S)$ is right (respectively left) Φ -amenable, then there exists a character $\phi \in \Delta(\ell^{1}(G))$ such that G is right (respectively left) ϕ -amenable.

PROOF. Suppose that $\Phi \in \Delta(\ell^1(S))$. Define $\widetilde{\Phi} : \ell^1(S)/\mathbb{C}\delta_o \to \mathbb{C}$ with $\widetilde{\Phi}(f + \delta_o) = \Phi(f)$. Since $\Phi(\delta_o) = 0$, $\widetilde{\Phi}$ is well defined. Further, $\widetilde{\Phi} \in \Delta(\ell^1(S)/\mathbb{C}\delta_o)$ and $\widetilde{\Phi} \circ \pi = \Phi$, where $\pi : \ell^1(S) \to \ell^1(S)/\mathbb{C}\delta_o$ is a natural embedding. By [8, Proposition 3.5], $\ell^1(S)/\mathbb{C}\delta_o$ is right (respectively left) $\widetilde{\Phi}$ -amenable. On the other hand, $\ell^1(S)/\mathbb{C}\delta_o = \mathcal{M}(\ell^1(G), P, m, n)$. Now Theorem 2.5 implies that $\ell^1(G)$ is right (respectively left) ϕ -amenable and so is G.

Acknowledgement

The author would like to thank the referee for his/her invaluable comments and suggestions.

References

- [1] R. Arens, 'Operations induced in function classes', Monatsh. Math. 55 (1951), 1–19.
- [2] R. Arens, 'The adjoint of a bilinear operation', Proc. Amer. Math. Soc. 2 (1951), 839–848.
- [3] A. H. Clifford and G. B. Preston, *The Algebraic Theory of Semigroups*, Vol. I, Mathematical Surveys, 7 (American Mathematical Society, Providence, RI, 1961).

M. Soroushmehr

- [4] H. G. Dales, A. T.-M. Lau and D. Strauss, 'Banach algebras on semigroups and their compactifications', *Mem. Amer. Math. Soc.* 205 (2010), 1–165.
- [5] G. H. Esslamzadeh, 'Banach algebra structure and amenability of a class of matrix algebras with applications', *J. Funct. Anal.* **161** (1999), 364–383.
- [6] G. H. Esslamzadeh, 'Duals and topological center of a class of matrix algebras with applications', *Proc. Amer. Math. Soc.* **128** (2000), 3493–3503.
- [7] Z. Hu, M. Sangari-Monfared and T. Traynor, 'On character amenable Banach algebras', *Studia Math.* 193 (2009), 53–78.
- [8] E. Kaniuth, A. T.-M. Lau and J. Pym, 'On φ-amenability of Banach algebras', Math. Proc. Cambridge Philos. Soc. 144 (2008), 85–96.
- [9] W. D. Munn, 'On semigroup algebras', Math. Proc. Cambridge Philos. Soc. 51 (1955), 1–15.
- [10] M. Sangari-Monfared, 'Character amenability of Banach algebras', Math. Proc. Cambridge Philos. Soc. 144 (2008), 697–706.
- M. Soroushmehr, 'Ultrapowers of l¹-Munn algebras and their application to semigroup algebras', Bull. Aust. Math. Soc. 86 (2012), 424–429.
- [12] M. Soroushmehr, 'Weighted Rees matrix semigroup algebras and their applications', Arch. Math. (Basel) 100(2) (2013), 139–147.

MAEDEH SOROUSHMEHR, Department of Mathematics,

Faculty of Mathematical Science and Computer, Kharazmi University, 50 Taleghani Avenue, 64518, Tehran, Iran e-mail: std_soroushmehr@khu.ac.ir

122